=\ 3 s &
32,50 g% S 56723 |569,30 g Ho=2,07 o0 —, P3 DN160, L=20,00 m, rz.dna=567,25 %
38,50 LY S| [56726 [569,30 | Ho=204 "o \©
E N
=N
ANE
65,50 S 567,40 |570,00 | Ho=260 /"0
W
g DN200
8450 568,80 |571,00 | Ho=2,20 @ 1_Rz.dna=568,80
N 1,50 “| 156889 [571,00 | Ho=2,11 i o)
~ © T P4 DN160, L=6,00 m, rz.dna=568,91
= E4 2tt+im, grosi=0,80 m U
13,50 =| (570,00 |572,00 [Ho=2,0( /\c—?‘)_(
- o
=
29,50 | (57020 [572.20 | Ho=2.00 (3 j >
35,50 g |50 s A S
Ho=2,07 7
&
78,50 571,02 |573,70 | Ho=2,68 /3\ LA
Al &/ 2 R
91,50 =25 E6 ks400, gt.osi=1,20 m ) .
99,50 & 571,40 | 57380 | Ho=240 /=) A \
d a o @/ Ng
T\.;\g = 5 F7 tm, glosi=080 m
—|<|S :
2050 & 571,55 |574,00 ,'v',,Hozz,45 - £, Rz.dna=571,59
T o)
T\ 1
S\S[g @)
< @)
150 ) 572,70 | 57480 | Ho=2,10/"=
IS © . P5 DN160, L=6,00 m, rz.dno=572,72
(=) N [a]
54,50 S 5[S| |57280 |57490 | Ho=0,10 ("
= o
S
ANE
84,50 & 573,70 |575,80 | Ho=2,10 <K§ ) :
_Sli\-é 5-2 - T P6 DN160, L=5,00 m, rz.dna=573,72
199,50 8[| |57378 |575,70 | Ho=1,92 /;;\ >
4 T &/ T
O
=z <
B S
o . rura ostonowa nr 3, DN273, 1=10,50 m
" |
I [00)
49,50 O & 575,20 |577,30 | Ho=2,10 /5\ ~
55,50 < -ﬁ';\E = 85753 577,30 \o / . | @7
N~ (o]
62,50 & 2|=[8]57527 51730 emrms T 3 ) = — ¢
o N N . P7 DN160, L=10,00 m, rz.dna=575,29
2 E8 2tt+tm, glosi=080 m
EN
98,50 g 575,80 |577,90 | Ho=2,10 /;;\ E
4 m \© / N
T E
N
3150 2 57690 |579.00 | Ho=2,10 (=) E
T N A 3
g 2
2 T
~ 5
& rura ostonowa nr 4, DN273, 1=8,50 m 8
= © g
79,50 g 578,20 580,30 | Ho=2,10 = 2N \ 3
E\I N 9 Z2it+tm, grosi=0,80m T \ a ] \\ / S n g
92,50 = 3|85 51827 | 58030 [Fo=208 7 = \ & >
o W] p




